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Names Drinks Dessert
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$5.99

$6.99

$7.99

$8.99

$9.99

creme brulee

parfait

pecan pie

souffle

tiramisu

cafe americano

cafe latte

cappuccino

earl grey tea

espresso

Prices Names Drinks Dessert

$5.99

$6.99

$7.99

$8.99

$9.99

1. Norman had the espresso..

2. Of the diner who ordered the parfait and the one who had the cappuccino, one paid $9.99 and the other was Addie..

3. The one who had the earl grey tea paid  less than the diner who ordered the parfait..

4. The one who had the espresso paid 2 dollars more than the diner who ordered the souffle..

5. Neither the person who paid $6.99 nor the person who paid $8.99 was the diner who ordered the tiramisu..

6. The person who paid $8.99 was either the one who had the cappuccino or the diner who ordered the creme brulee..

7. Linda paid $9.99..

8. Tim paid $5.99..

9. Tim had the cafe americano..

10. The diner who ordered the tiramisu paid 2 dollars less than the one who had the cappuccino..
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